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(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
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1. 57 4+518,519, 520 igdivisible by

(@) 7
(b) 9
w) 1t
d 13

2. If a + b = 2¢, then what is the value of

aic+bic?
(@ -1
(b) 0
() %
d 2
8. Ifx=y" y=2"andz=x" wherex =1,

y#1, z=#1, then what is the value of abe ?

(a) -1
(b)) 1
() O
d 3

4. If 2b=a+c and y2 = xz, then what is

xP=Cyt—2,8-b gqual o ?
(a) 3
(b) 2
() 1
d -1
SPSS-T-XHI

5.

6'

(2-A)

Which one of the following is correct ?

(a) Decimal expansion of a rational number
is terminating.

(b) Decimal expansion of a rational number
is non-terminating.

(¢) Decimal expansion of an irrational
number is terminating.

(d) Decimal expansion of an irrational
number is non-terminating and
non-repeating.

If the roots of the equation px2 + x + r = 0 are
reciprocal to each other, then which one of the

following is correct ?

(a) p=2r
(b) p=r

(e} ' 2p=x
(d) p=4r

If 65x — 33y = 97 and 33x — 65y = 1, then
what is xy equal to ?

(a) 2

(b) 3

(e -2

d -3

i 2T g X g R e
y ¢ z a

Lot equal to ?
bx

(a) 1

(b) 2

() 0

d -1
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517 4 518 L 519 , 520 formw fqursw 8 2

(a) 7

(b) 9

(c) 11

(d 13

e as+b=228 A 2+ ¢ wHE TN
a-c b-c

2?7

(a) -1

(b) 0

() 1

d 2

Ife x = yYa, y=z”b3ﬂfz=xy°3[ﬁx# 1l
y#1, z#1 &, Al abe % TF 1 8 ?

(a) -1
(b) 1
() O
d 3

g 2b=a+c 3ﬂ1y2=xz %,?ﬁ
xP-cye-aa-b formd SR B ?

(a) 3
(b) 2
() 1
d -1

(3-A)

e d @ smaradi 2 2

(a) YTNEYT AT &1 29HAd JER 9id 21T & |

(b) TNEHT HEIT F1 IHET TER IHIEHL B
2

(c) IUNAT F&N H ¥ET JOR T Bl
2

(d) INET & %1 IWed Y9R !
3 Tadt Bar 2 |

Ifg wfiwtr px? + x + r = 0% A THGH +
=Icshd B, a1 Frefafea & @ s wd 7 2

(a) p=2r

(b) p=r
(¢) 2p=r
(d) p=4r

Ife 65x — 33y = 97 3 33x —65y =1 B, @
xy Tohas sUT 8 ?

(a) 2
(b) 3
() -2
(d -3

(a) 1

(b) 2

(c) O

d -1




9. If i 5, then what is the value of
i =1 9
a8
(a) 125
(b) -125
(c) 140
(d -140
10. If x+y+z=0, then whatis
(y+z-xP+(z+x-y)® +(x+y-2)° equal
to?
(a) (x+y+2)°
(b)) 3Ex+y)(y+2)(z+x)
(c) 24xyz
(d) - 24xyz
11. If (x + 3) is a factor of x® + 3x2 + 4x + k, then
what is the value of k ?
(a) 12
(b)y 24
() 36
d) 72
12. The smallest integer with 4 digits which is a
perfect square is
(a) 1000
(b) 1024
() 1089
(d) None of the above
SPSS-T-XHI (4-
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13.

14.

15.

A)

Which one of the following is a zero of the
polynomial 3x% + 4x2 -7 ?

(a) 0
(b) 1
ey 2
d -1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 respectively. What is the sum of these

numbers ?
(a) 504
(b) 508
() 514
(d 528

If a and B are the roots of the equation
ax? +bx +c= 0, then what is the value of the

expression (oo + 1) (B + 1) ?

a+b+e
a

(a)

b) b+c—a

© a-b+c

d) a+b-c




= qﬁaz-1:5%,ﬂa6-1wmw%? 13. WEYG 3x° + 4x2 — 7 1 I, Fafefaa d @

a a® TR 2
(a) 125
(@ 0
(b) —125
(¢) 140 1
(d —140 € 2
d -1

10. =g X+y+z=0 %,?ﬁ
{y+z—x)3+(z+x—y)3+(x+y—z)3

fraes ? : .
EE 14, U 2 dEArd § S 21 & w9 € o 3 LoM

(a) (x+y+z)3 . :
3T HCF 991 3003 3 218 | 39 §&A1=AT &1

(b) B(x+y)(y+2)(z+x)

TR T 8 ?
(c) 24xyz
(d) —24xyz e
(b) 508
11. T2 (x +3), x3 + 3x2 + 4x + k F TH AEE 2, © 514
al kT HE FT 8 2 |
(d) 528
(a) 12
(b) 24
© 36 15. ﬂﬁaﬁ'{ﬁﬁtﬁﬁ?{ﬂax2+bx+c=0'&ir§{§,
a5 AP 0+ D P+ DFTAA TR ?
o (@) a+b+ec
12. 4 3! 1 g8 B I S T qof o1t oft 2, a
feafafea g a s 2 2
(b) b+c—-a
(a) 1000 3
(b) 1024 © a—-b+c
a
() 1089
@ o E A | @ RS
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16. The remainder when 3x% + kx? + 5x — 6 is
divided by (x + 1) is — 7. What is the value of
k?
(a) -14
(b) 14
e =17
d 7
17. If flx) and g(x) are polynomials of degree p
and q respectively, then the degree of
{f(x) + g(x)} (if it is non-zero) is
(a) Greater than min(p, q)
(b) Greater than max(p, q)
(¢) Lessthan or equal to max(p, q)
(d) Equal to min(p, q)
3 5—+/3 5 +43
18. What is the value of ngg e ?
(a? -24J15
(b) 2415
© 15
@ -+15
19. What is the value of
1 1
1+xP-2 452 4 14+x2~P 4 x6=b 7
1
1422~ ixP~°
wherex#0 ?
(a) -1
(b) 0
ek 1
(d}' 8
SPSS-T-XHI (6-

20.

21.

22,

23.

A)

The sum of a number and its square-is 20.
Then the number is

(a) —-5o0r4
(b) 2or3

(c) —b5only
(d 5or-4

If the price of wheat rises by 25%, then by how
much percent must a man reduce his
consumption in order to keep his budget the

same as before ?

(a) 15%

®) 20%

© 25%

@ 30%
1

%5 of the students who registered did not

appear for the examination, % of those who

appeared passed. If the number of registered

students is 2000, the number who passed is

(a) 1920
(b) 1056
() 1020
(d) 864

What is the difference between 0-9 and 0-9 ?

(a) 0

(b) 0-099
(¢ 01
(d) 009




16.

17.

18.

19.

SPSS-T-XHI

I 3x3 + kx? + 5x — 6 H (x + 1) ¥ 9T e
FA@ RN — 7T FEAT 2 | kI HH F1 8 ?

(a) -14
(b) 14
(c)

d 7

=7

Ifg fix) 3M g(x) Fuw: f&ft p 3R q & §g9q 3,
@l (fx) + gx) (3G 77 I R) i feufi &
(a) min(p, q)‘{?i |

(b) max(p, q) ¥ =&
(¢) max(p, q) % ST I 39H HH
(d) min(p, q) % T

V5-v3 5+43

P e B ekl l

(a) -2415

(b) 2415

(c) J15

@ -15

& x 08, H AH F1 8 ?
(a) -1
by 0
() 1

d 3

(7-A)

21.

22.

23.

20. U T 3N IGF a1 &1 A0THA 20 8 | |1 98

He R

(a) —53HAYET4
(b)
(c)
(d)

2 37YaT 3
I - 5

5 HAYAT - 4

afs 18 1 e (qW) 25% wear 2, @ T AR
Wl A9 399 H fopad gfawa & =t wef

<|1fRu, difer ITehT T Iaet G & o471 @& ?
(a) 15%
(b) 20%
(c) 25%
d) 30%

i BE % when % forg e
W, S R g o I g AR
Ysfiha BT I T 2000 7, A I B AT

BT il T fhat 2 2
(a) 1920

(b) 1056

() 1020

(d) 864

0-9 31T 0-9 % i =T A B ?

(@ 0

(b) 0-099
(0 01
(d 009




24 v AL Bi= 1 2B G=38 4, €= 243
and D:E=3:4, then whatis B: E equal to ?
(a) 3:2
b)) 1:8
(e} 3:8
(d 4:1

25. A work when done by 10 women is completed
in 12 days. The same work can be completed
in 8 days when done by 5 men. How many
days will it take to complete when 6 women
and 3 men are employed to perform the same
job ?
(a) 12
Y10
(cy 8
(d b5

26. A man undertakes to do a certain work in
150 days. He employs 200 men. He finds that
only a quarter of the work is done in 50 days.
How many additional men should he employ
so that the whole work is finished in time ?
(a) 175
(b) 85
(c) 100
(d) 120

27. A train moving with a speed of 60 km per hour
crosses an electric pole in 30 seconds. What is
the length of the train in metres ?
(a) 300
(b) 400
(¢) 500
(d) 600

SPSS-T-XHI

28,

29.

30.

(8-A)

¥ 120 is distributed among A, B and C so that
A’s share is T 20 more than B’s and ¥ 20 less
than C’s. What is B’s share ?

(a) T 10
(b) T 15
() ¥20
d T25

In the following table of inverse variation,
what are the values of A, B and C

respectively ?

M 15 -6 2 C
N -4 A B 60
(a) 10,-30,-1
(b) 10,-1,30

(¢ —80,10,-1

(d -1,-30,10

A person borrowed T 5,000 at 5% rate of
interest per annum and immediately lent it at
5:56%. After two years he collected the amount
and settled his loan. What is the amount

gained by him in this transaction ?

(a) T 25
(b) T 50
() T 100
(d T 200




o

24.

25.

26.

217.

SPSS-T-XHI

gfe A:B=1:2, B:C=3:4, C:D=2:3
I D:E=3:43, @ B:E frgs st=x 2 2

(a)
(b)
(c)
(d)

W o= W
—~ 00 00 N

s FA ) S 10 3G wdt E @ I8 12w H
QU B I R | 3EH HE B T 5 AEH A 7
@t ag sfea & qu & wran R | S = | w A
% fou 919 6 3l 3 3 et @Y 9 &, @
38 QU gR § faa fem @t 2

(a) 12

(b) 10

(c)

@ 5

s = Rt ®r @t 150 feAT § qu e W
ITRelfdea o1 8 | 98 200 Ifi g
2 | 3U var werar @ 76 50 i1 & 3@ v W
Fad UHAAE & W R T 2 | 3 e
% a9 ¥ @ed 8 7Y ?

(a) 175

(b) 85

(¢) 100

@ 120

60 km 9 52 Y 7fq | =edt g TH @Sl
T+ fagd @ #1 30 FHUE H IX F A 2 |
e i Tard, Hiew § w® R 2

(a) 300

(b) 400

(c) 500

(d) 600

(9-A)

28.

29.

30.

A B3R CH T 12030 ISR &1 91d 2 5 A
1 Y B W A T 20 31fYes & 3 C & W

AT 20FAE | BH AL ?
(a) T 10
(b) T15
() T20

d T25

gepn oo it Fafafiaa anofi 4, A, B 3R
C % HUS: UH T 8 ?

15 -6 2 C
N — 4 A B 60
(a) 10,-30,-1
(b) 10,-1,30
(c) -30,10,-1
(d -1,-30,10

T Ak 4 5% 9fd 9§ it SIS W W T 5,000
3R e it gwa & 55% il W W IR
few | @ ad w1g 3T W aE ot S e
w9 g fo | @ T § 38 et ety
T AN FIAT ?

(a) T 25
(b) T 50
(c) T100

(d T 200




31.

32.

33.

34.

At present the average of the ages of a father | 35.
and a son is 25 years. After seven years the
son will be 17 years old. What will be the age
of the father after 10 years ?

(a) 44 years
(b) 45 years
(¢) 50 years

(d) 52 years

36.
If 5 tractors can plough 5 hectares of land in
5 days, then what is the number of tractors
required to plough 100 hectares in 50 days ?
(a) 100
(b) 20
e 10
d 5

37.
A merchant commences with a certain capital
and gains annually at the rate of 25%. At the
end of 3 years he has ¥ 10,000. What is the
original amount that the merchant invested ?
(a) T5,120
(b) ¥ 5,210
(¢) ¥ 5,350
(d) < 5,500

38.

Which one of the following decimal numbers is

a rational number with denominator 37 ?
(a) 0459459459 . . .

(b) 0-459459459

()  0-0459459459 . . .

(d) 0-00459459. ..

SPSS-T-XHI (10-A)

R - e

The annual income of a person decreases by
T 64 if the annual rate of interest decreases
from 4% to 3-75%. What is his original annual
income ?

(a) ¥ 24,000
(b) ¥ 25,000
(e) ¥ 25,600
(d) < 24,600

For 0 < m < 1, which one of the following is
correct ? .

2 1

(a) ‘log;ym<m“<m<m"”

1

(b) m<ml<m?< log,, m

1 2

() logygm<m<m <m

(d) log;ym< mt <m<m?

A gentleman left a sum of T 39,000 to be
distributed after his death among his widow,
five sons and four daughters. If each son
receives 3 times as much as a daughter
receives, and each daughter receives twice as
much as their mother receives, then what is
the widow’s share ?

(a) 1,000
(b) ¥ 1,200
() T 1,500

(d) None of the above

Three numbers which are co-prime to each
other, are such that the product of the first
two is 286 and that of the last two is 770.
What is the sum of the three numbers ?

(a) 85
(b) 80
(e 175
(d) 70




31.

32.

33.

34.

SPSS-T-XHI

giam # s far ot gn i oy w1 oftwd
2599 & | AA q¥ A1g A 17 99 I & ST |
103y = far it a1y o Bt 2

(a) 4494

(b) 4574

(¢) 50ad

d) 529

afs 53, 5 &FA g 1 5 A F A &, @
100 BFT H 50 fedl § Sad F fou fopaa

el I AravEHar gt 2
(a) 100

(b) 20

() 10

@ 5

T A U Ffvaa 9ot & yEA @ 3R
25% hHI W W qAMEH 9 Id w1 B |
398 % /g A 3I9H 9E T 10,000 B & |

ST o GRT @S T8 ARf Tl 4 B 2
(a) ¥ 5,120

(b) ¥ 5210

(¢) T5,350

@ ¥ 5,500

ffeiaa gemere Gemmet § @ a8 afe d@en
i B foesm s 378 2

(@) 0459459459 . . .

(b) 0459459459

(© 00459459459 . . .

(d) 000459459 ...

35.

36.

37.

38.

(11-A)

Ife afdes =a @ 4% T 9eH 3-75% B STl
2, 91 U oAfk &l A ™ T 64 TS ST
3 | 3TEh! oA TR 37 T R 2

(a) ¥ 24,000
(b) ¥ 25,000
() T 25,600
(d) T 24,600

0 <m < 1% fou, fafafga d 3 99
27
(a)
(b)

2 1

log;pm<m®<m<m”

1

m<m- <m2<10gmm

1 2

() logym<m<m <m

2

(d) logyym< ml<m<m

uH e 4 T 39,000 H wAUM BE, @
3Igh! Yog & UvET 3Heh! fawan, e gE 3R
=R bR | sier S 2 | afe g 9w gl
%+ &= &1 3 1 e 2, ot yais ot &
3I7h! /i % e =1 g faeran 2, @ fawan =
e w2 2

(a) ¥ 1,000
(b) ¥ 1,200
(c) < 1,500
(d) 3w F ¥ HIE T

i Heand St h-gE § STHENST €, 36 YeK
% f5 ugehl @ =1 UEHS 286 3 Ifaw @ w
TEEE 770 & | AHI WSS H AMTHRA =1
27

(a) 85
(b) 80
(¢) 75
(d) 70



39. The age of a woman is a two-digit integer. On
reversing this integer, the new integer is the
age of her husband who is elder to her. The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages ?

(a) 8years
(b) 9 years
() 10 years
(d) 11 years

40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the speed
of the passenger train to that of the goods
train ?

(Assume that the trains run at uniform speeds)
(a) 2:1
(b) 3:2
(e) 433
d) 1:1

41. All odd prime numbers upto 110 are
multiplied together. What is the unit digit in
this product ?

(a) 0

(b) 3

(0 5

(d) None of the above
SPSS-T-XHI

42.

43.

45.

(12=K)

An alloy A contains two elements, copper and
tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4. If 20 kg of alloy A, 28 kg of alloy B and
some more pure copper are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 : 7, then what is the
quantity of pure copper mixed in the alloy C ?

(a) 3kg
(b) 4kg
() b5kg
(d) T7kg

A quadratic polynomial ax? + bx + c¢ is such
that when it is divided by x, (x — 1) and (x + 1),
the remainders are 3, 6 and 4 respectively.

What is the value of (a + b) ?
(a) 3

(b) 2

(e} 1

@ -1

If the average of 9 consecutive positive
integers is 55, then what is the largest
integer ?

(a) 57
(b) 58
() 59
(d) 60

The average of the ages of 15 students in a
class is 19 years. When 5 new students are
admitted to the class, the average age of the
class becomes 185 years. What is the average
age of the 5 newly admitted students ?

(a) 17 years
(b) 175 years
(c) 18 years
(d) 185 years




39.

40.

41.
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Teh Afgel it 3A1g < bl 1 Th qUIih & | 39 |42,
qUiieh % 3l I TAM FEd o1 W, T qUIH
3% qfd, St foF 3m@ 8 ¥, 1 9y =9 S
® | ST Y H AT, I Y & AThe
TEeT e & | 36T Y HT A TR 2
(a) 8§
(b) 9dY
(¢) 1099
(d) 1199
T ar ME 3R T wemd ok € fean & |43
THTAR TemrT W S @ R | 9 3 fauda femm #
1 @ BT d g M, Arerel B 9w °
St o, SER T EE 98 I At
2| @ A guH o § o1 @ &, A e m
1 7ifd =1 TrerTEl Y AT A AU w1 R 2
(v ifsre for mifgat wramm nfa @ werdt B)
(a) 2:1 44.
(b) 3:2
(¢) 4:3
(d 1:1
110 a6 <1 @oft fawn sy @&t $ w
mwwmmélwwﬁmwﬁ
3k FAT 82
(a) O
(b) 3
() 5
(d) 39w A B T

(13-A)

fopeft T AR @ a dlen AR fe7 2:3%
Fqua ° &, St et o fagurg B # o
T 3:4% UE H B | AT 20 kg Trzang A,
28 kg fAyUTg B, 991 $© IR AU g qla &l
feme wh At fagag ¢ w9 R 2, e
dfen 3T fe71 6: 7 /9@ 4 €, @ fazarg c°
e e g afe AT R R 2

(a) 3kg

(b) 4kg

(c) b5kg

@ 7kg

ﬁma@ﬁax2+bx+c?mm%%w
T x, (x— 1) 3 (x + 1) ¥ Tqwfoa foran sman 8,
A ATH FHI: 3,6 4 WA B | (a+b)H
T =T E 2

(a) 3

(b)y 2

@ 1

@ -1

Ifg 9 NI YATcHS qUITeh sl 3f1Ed 55 &,
el §gT Uit T R ?

(a) 57
(b) 58
() 59
(d 60

U HET % 15 DEI I Y HT 3Ed 1999 2 |
o HET H 5 9¢ BE 9w eI S ?, A
e 61 fFd A1 185 ¥ B A 7 | wiose
qU 57T BT 6l 3fed g R 2

(@) 1799

(b) 17-594

(¢) 1899

(d 1859



46.

A:man can row at a speed of x km/hr in still

water. If in a stream which is flowing at a
speed of y km/hr it takes him z hours to row to
a place and back, then what is the distance
between the two places ?
2 2
(@) z(x“ —-y°)
2y
g2
@ 2= 71
2x
2_ .2
@A =3
2zx
2 .2
@ =z (x* —y9)
X
47. A water tank has been fitted with two taps P
and Q and a drain pipe R. Taps P and Q fill at
the rate of 12 litres per minute and 10 litres
per minute respectively.

Consider the following statements S1, S2 and

S3:

S1: Pipe R drains out at the rate of 6 litres
per minute.

S2: If both the taps and the drain pipe are
opened simultaneously, then the tank is
filled in 5 hours 45 minutes.

S3: Pipe R drains out (fully) the filled tank
in 15 hours 20 minutes.

To know what is the capacity of the tank,

which one of the following is correct ?

(a)  S2 is only sufficient

(b) 51, S2 and S3 are necessary

(c) Any two out of S1, S2 and S3 are

sufficient

(d) None of the above

SPSS-T-XHI

48.

49.

(14-A)

A car has an average speed of 60 km per hour
while going from Delhi to Agra and has an
average speed of y km per hour while
returning to Delhi from Agra (by travelling
the same distance). If the average speed of the

car for the whole journey is 48 km per hour,

then what is the value of y ?
(a) 30 km per hour
(b) 35 km per hour
(c) 40 km per hour

(d) 45 km per hour

An article is sold at a profit of 32%. If the cost
price is increased by 20% and the sale price

remains the same, then the profit percentage

becomes

(a) 10%
(b) 12%
() 15%
(d 20%




46. TH HAfh 38t gL I A x Fopt /e i =1t @

TE @ HHal B | A ww gw (FE),
yfrfi/mafinfoa g @ 2, 8§ & wH ¥
forefl gEt T O% 919 § 9W 3R 99" I
(efed) # 38 =afs &l z 92 & §, @ aF

wHi s fa @ wnd
(8) z{x22; y2)
b) z(x;:y2)
© —ﬁ‘-"zzgxyz)
z (x2 —y2]

(d)

X

47. i it tH TH A @ 9 P R Q IR wh

fwE acft Rfee Hr 1 2 | 79 P 3 Q A

&1 T i HEw: 12 oftex 3fd fime 3fk 10 wfiex

yfd e A a9y £ |

39 ged ¥ frefafed weAi s1, 52 3 S3 W

form FifSr -

S1: et R, 6 oftex ufq fime &t v & arft
et et @ |

S2: afe gHl el i frer et * Ty
e fear s 8, @ 5 52 45 fme § T
AT R |

S3: 7cft R W g8 T & 1592 20 fe # gt
IE Y @refl T R |

Th I gmar SeA % fou, fefafad § @

HIF-5T TE B ?

(a) hael S2 ¥ T B

(b) S1,S2 3 S3 I &

(¢) S1,823R s3 A +is +ft g vaTa &

(d) 393 A & SIS TR

SPSS-T-XHI

(15-A)

48. feoeht ® 7y 94 Il w $R Fi iEa Tfa

60 forrft wfq =er 2 3t 3o @ feoeht o™
I gug 3EH 3ftma nfa y et ufe wer 2
(T gt 7 W #) | 3 wyol am § SR
aftwa Tifa 48 fomft o w1 @, 1 y 1 A
22

(a) 30 Tt gfq e
) 35 Tt ufd e
() 40 Tt ufe e

@ 45 Tt ufq =er

. Tk 9% S 329 A W 991 901 § | I AFTa

T 20% §¢ a1 & 3R fashy 9o 981 & g,
Al oy i feerdar ferat 81 St @ 2

(a) 10%

(b) 12%

() 15%

(d) 20%



50. A, B, C, D and E start a partnership firm.
Capital contributed by A is three times that
contributed by D. E contributes half of A’s
contribution, B contributes one-third of E’s
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,500, what is the combined
share of B, C and E ? (The shares are
supposed to be proportional to the
contributions)

(a) ¥ 13,500
(b) ¥ 18,000
(¢) ¥ 19,750
(d) ¥ 20,250
51. A Pie Chart is drawn for the following data :
Sector Percentage
Agriculture and Rural 12:9
Development
Irrigation 12-5;
Energy 27-2
Industry and Minerals 154
Transport and
Communication i
Social Services 16-1

What is the angle (approximately) subtended
by the Social Services Sector at the centre of
the circle ?

(a) 45°
(b) 46°
(e) 58°
(d) 98°

SPSS-T-XHI

52.

The

The arithmetic mean of two numbers is 10 and

their geometric mean is 8. What are the two

numbers ?
(a) 15,5
(b) 12,8
(c) 16,4
(d 18,2

The arithmetic mean of 11 observations is 11.
of the first 6
observations is 10-5 and the arithmetic mean

of the last 6 observations is 11-5. What is the

arithmetic mean

sixth observation ?

(a) 100
(b) 105
() 110
(d 115

What is sin? 8 — cos? 6 equal to for any real

number 6 ?

(@) 1

(b) 1-2sin®6
() 2cos?0+1
(d) 1-2cos?6




50.

51.
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A, B, C, D 3 E T HHGHl BH ¥& Hd & |
AR @g g fl, DGR wmg T st <At i
THT 2 | E T 3{9EH, A% 3I9EH 1 4T 8,
B %1 3¥EH, E % 3WgH &1 TH-fr 7, o
C %1 IAVEH, A % I9EH H1 q-fEE & | 9
% % FA @9 A, A, D 3 E & "% T
deT B 3R C % §gFa fgd &1 3 T 13,500
8, A B, C 3 E &1 9g%d fewn fobam & 2

(e, vl % wuHuE # 4 9 §)
(a) ¥ 13,500
(b) T 18,000
(© ¥19,750
@ ¥ 20,250

fafafga el & fow gone (g =)

T TR

&
i
fé=g
Fal
ECIL i RCIEE
gfEed 3R F=R
qrTforeh Hamd 16:1
g Garail & 99 @ (89) g 99 % S5
fomg W afafea o (emw) v 2 2

(a) 45°

fasraar

12-9

12:5

272

154

159

(b) 46°
(¢) 58

(d 98°

52.

53.

54.

(17-A)

2l TS 1 THIGL H1ET 10 & 3 ITHT UIR
e g2 | g HEATd B § 2

(a) 15,5
(b) 12,8
(¢) 16,4
(d) 18,2

11 Y& T TR A1EF 117 | IR (T8
6 N&IUTT T TETGL WIET 10-5 8 31 3ifaw 6 Jequni
T GHIAR H1ET 11-5 8 | DT J&01 =1 B ?

(a) 100
(b) 105
(¢ 110
d) 115

foreft arafas 9= 0 & ﬁ"l'Q sin*@ — cos*0
foraes sUs 8 2

(a) 1
(b) 1-2sin%0
() 2cos?0+1

(d 1-2cos?0




55.

56.

57.

SPSS-T-XHI

What is cot 1° cot 23° cot 45° cot 67° cot 89°
equal to ?

(a O

@& 1

(c)

bO | =

(d)

o | =

What angle does the hour hand of a clock

describe in 10 minutes of time ?
(a): 1°
(b) 5°
(e) 6°

(d 10°

Consider the following statements :
1. (sec26—1)(1—cosec?6)=1

2. sinB(1+cos0) !+ (1+cos0)(sind)!=

2 cosec 0
Which of the above is/are correct ?

(a) 1only

(b) 2only

(¢c) Bothland?2

(d) Neither 1 nor 2

58‘

59.

60.

(18-A)

Each side of a square subtends an angle of 60°
at the tip of a tower of height h metres
standing at the centre of the square. If / is the
length of each side of the square, then what is
h2 equal to ?

(a) 22

(b)

(c)

(d)

From a height of h units, a man observes the
angle of elevation as a and angle of depression
as B of the top and the bottom respectively of
a tower of height H (> 4h). To what further
height should he climb so that the values of
angle of elevation and angle of depression get
interchanged for the top and bottom of the

tower ?

(a) H-h units

(b) H-—2h units
(¢) H-3hunits
(d) H-4h units

If secx cosecx =2, then what is

tan™ x + cot® x equal to ?

(a) 2
by g
e =20
@ g




55. cot 1° cot 23° cot 45° cot 67° cot 89° TehEH
JUH B 2
8. 0
(b)y 1
(e) %
@ <
56. fordl wdt i @2 &t gE, @ F 10 e 4,
foran feeht <1 tor STt 2 2
(a) 1°
(b) 5°
(c) 6°
(d) 10°
57. frfafaa Fomi w fa=m Hif
1. (sec?f—1)(1—cosec?8)=1
2. sin®(1+cos®)!+(1+cosb)(sin®)!=
2 cosec 0
IogFd § & HAw /8w R/
(a) ad 1
(b) <hae 2
(¢ 13 23
@ Fa1,T82
SPSS-T-XHI

58. foret ot i ys gon, 3@ ot & &g W foua

59.

60.

(19-A)

h X #it =18 9 T e F oY (RR) w
60° T IVl Fafa w8 | A a1 it ySH
ST i @Is [ 2, a1 h2 fhaeh aust 2 2

(a) 202

(b)
() —

(d)

h 3% & J9 ¥ UH Afdd q@d & 6
H (>4 h) 318 9t T 2 & 3 3 ae1 &1
HU: IATT PV o N FFTHT HOT BB | A
3 3R fpaar = wen =iy, aifs et &
ot af et F S I SN I B
HH 3ideicd & 9 ?

(a)
(b)

H — h units
H — 2h units
(¢) H - 3h units

(d) H-—4h units

Ife  sec x cosec x = 2 %,?‘ﬁ tan™x + cot™x

forees sU B 2

(a) 2
by 27
(e 2°
i 3



61.

62,
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If cosx+cos?x =1, then what is

2x +sin?x equal to ?

sin
(U |
(b) 15
(c) 2

(d 3

If sin A + cos A = p and sin® A + cos® A = q,

then which one of the following is correct ?
(a)
(b)
(c)
(d)

p’-3p+q=0

q3—3q+ 2p =0
p?-38p+2q=0
p®+3p+2q=0

_sec’0—tan®
sec? 0 + tan0
following is correct ?

(a) l¢::4:«:3

3
1
b =
(b) xe[s,:ﬂ

(c)

i b i < , then which one of the

-~3~::sc‘:—wl
3

(d)

l <x<3
3

ABC is a right angled triangle with base BC
and height AB. The hypotenuse AC is four
times the length of the perpendicular drawn to
it from the opposite vertex. What is tan C
equal to ?

2-3
V-1
2+ 43
V3 +1

(a)

(b)

(c)

(d)

650

66.

67.

68.

(20-A)

ABC is a triangle right angled at C with
BC = a and AC = b. If p is the length of the
perpendicular from C on AB, then which one

of the following is correct ?

(a) a?b%=p?(a+b?
(b) a?b2=p?(H%-a?
(¢) 2a?b?=p?(a+b?)
(d) a2b?=2p?(a+b?)

The radius and slant height of a right circular
cone are 5 cm and 13 cm respectively. What is

the volume of the cone ?

(a) 1007 cm®
(b) 50m cm?®
(¢) 657 cm?
(d) 169n cm®

Two equal circular regions of greatest possible
area are cut off from a given circular sheet of
area A. What is the remaining area of the

sheet ?

(a) A/2
(b) A/3
(c) 38A/5
(d 2A/5

If the ratio of the radius of the base of a right
circular cone to its slant height is 1 : 3, what is
the ratio of the total surface area to the curved

surface area ?

(a) 5:3
(b) 3:1
() 4:1
(d 4:3




61. 'ﬂﬁcbsx+cos2x=1%,?ﬁsinzx+sin4x
ferereh sT= 2 2
(a) 1
(b) 15
() 2
(d 3
62. ?IEsinA-i-cosA:pE‘ﬁ'(sin3A+cos3A=q%,
a1 fr=fofea & @ P adt 2 2
(a) p>-3p+q=0
(b) q*-3q+2p =0
(c) p3—3p+2q=0
(d p?+3p+2q=0
sec? O — tan 0
63. aﬁx=2—_%,?hﬁt=r’r%rﬁaﬁﬁﬂ
sec“ O+ tan
HiTT TE R 2
(a) %:x(-?»
1
(b) xE[§:3]
1
(c) —3<x<—§
d) %st3
64. ABC U s s 2 fEet smur BC 3R
FuE AB ® | %91 AC il TTd, wEpE ¥ |
30 W @Y T o 6l s sl 9’ R
tan C forgeh sUs 8 2
(a) 2-+3
b J3-1
) 2+ 43
d J3+1
SPSS-T-XHI

65.

66.

67.

68.

(21-A)

ABC T% Bys @ &1 ¢ W @ehiofia 8, &l
BC=a 3R AC=b? | Ifg CH AB W T IH
9 " H TEE p B, @ F=fafes # @
HH-a1 9Et B 2 ‘
(@) a?b%2=p2%@%+b?
(b) a?b%=p?®H%-2ad
(@ 2a?b%=p?(a+b?
(d) a?b?=2p%(a?+b?

freht caad v A e i fd S
HHY: 5 cm 3 13 cm B | W I A=A fohaan
872

(a) 1007 cm®

(b) 50m cm®

(¢) 657 cm?

(d) 1697 cm®

A Sa%d ATl g =g A e (FEE §)
g &% & 2l S geid &F HE Id 2 |

T T AT S FAT 8 ?
(a) A/2

(b) A/3

() 3A/5

(d) 2A/5

afe wh Fe-gE TF F R H B w
3geh! fodt S @ oguE 1: 3 %, @ A
gedid Bl I G5k YR &R § I F1
27

(a) 5:3
(b)y 3:1
() 4:1
(d 4:3




69,

70.

71.
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A right circular cone is sliced into a smaller
cone and a frustum of a cone by a plane
perpendicular to its axis. The volume of the
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio

(a) 4:1
(b) 16:9
() 64:61
(d) 81:64

In a room whose floor is a square of side 10 m,
an equilateral triangular table of side 2 m is
book-shelves  of
4m x 1m x 9m are also placed in the room.
If half of the rest of the area in the room is to
be carpeted at the rate of T 100 per square
the

placed.  Four size

metre, what is cost of carpeting

(approximately) ?
(a) ¥ 7,600

(b)
(e) ¥ 4,113
(d)

T 5,635

T 3,200

A region of area A bounded by a circle C is
divided into n regions, each of area A/n, by
drawing circles of radii Iy Tgy Ty, ... T, 4 Such

that r; <1, < ry < .. 1 _; concentric with the

I'm+1

circle C. If Py, = where m = 1, 2, 3, ...
(n — 2), then Whiu::l;rl one of the following is
correct ?

(a)

(b)

p increases as m increases
p decreases as m increases
(¢) premains constant as m increases

(d) p increases for some values of m as m

increases and then decreases thereafter

72.

73.

74.

75.

(22-A)

What is the volume of a cone of maximum
volume cut out from a cube of edge 2a such

that their bases are on the same plane ?
(a) mad

na

b
(b) 3

2na’

3

(e)

3na’

d
(d) 1

The radii of two circles are 4'5 cm and 35 cm
respectively. The distance between the centres
of the circles is 10 em. What is the length of

the transverse common tangent ?

(@) 4cem
(b) 5em
(¢) 6cm
(d T7cm

There are as many square centimetres in the
surface area of a sphere as there are cubic

centimetres in its volume. What is the radius

of the sphere ?
(a) 4cm
(b) 3em
(¢) 2cm
(d) 1lcm

The length of a line segment AB is 2 cm. It is
divided into two parts at a point C such that
AC? = AB x CB. What is the length of CB ?

(a 3v5cem
®b) 83-+5cm
(¢ 5+3cm
(d 5-lem




Vg R W  foaes H
FET @ R | B TF N IF & fomw *
AT 64 : 61 % UM H | Al HAh G
TS Gl fohd ITaTa | & 2
(a) 4:1
(b) 16:9
(c) 64:61
(d) 81:64
70. Tt e °, fSmer &9 10 m Y= Tren vw i
2, 2 m ¥ aTelt s wwerg B a9 @l
2ISEFTH4mx1mx9mb R H
gl it =R sremiiEt of wht s 7 ) afg we
% STl 5 & % Y W A U hrefA fowmEn
s @ s @ 7 100 i @t der B, @
e TEM 6 ged () foha & 2
(a) ¥ 7,600
(b) ¥ 5,635
(c) T 4,113
(d) T 3,200
71. g9 C ¥ WiEg, A &9%d 9 T & Hl n
wuel # fowfora fopan man B, &l s @ug @
Wﬂn% |3H%ﬁ—mr1, oy Xy v Ty
Breenatl ot C & Wl 99 3H YR §91¢ T &
%r1<r2<r3<...rn_1%Iqﬁpm=r‘:+]
M m=123,..(n-2)%, d F=fafga 4 |
TR 8 ?
(a) m % TG & Y- p ofi FEar &
(b) m¥Eal & dl p T B
() mdugd & al p 3R (fer) @ &
(d) V9 m ST & a IHb S THl & AT p
Tl & 3R IF% 918 5 @ 8
SPSS-T-XHI

72.

73.

74.

75.

(23-A)

2a B I T4 Hl FREH Th VH 39 THN
ST T 2 TR 39 U Uk f ad | §, A
39 YR &9 T4 9T W 1 Afhan A
BN 2

(c)

(d)

a‘raﬁﬁﬁwﬁm 4-51'.-11135?R3-5cm%T |
gl % Fegl b &9 h g 10 cm B | SIS
s waeiwEn di Far #2982

(a) 4em

(b) 5cm

(c) 6cm

(d 7cm

T 7ol o YN &bl A a4 & e At
2 e fo 3o s § w9 e & | =
EaREre e 1

(a) 4cm

(b) 3ecm

() 2cm

(d) 1lem

T 1@ ABHI TaE 2em e | Mg @ @
qrl # 39 yer fawia war 2 O
AC2=ABxCB® | 95 CB &l oi=lTs o1 8 ?

(a) 3J5crn

b 3-+5em
(¢) 5+v3cm
(d J5-1cm




76. The locus of the mid-points of the radii of
length 16 cm of a circle is
(a) A concentric circle of radius 8 cm
(b) A concentric circle of radius 16 cm
(¢)  The diameter of the circle
(d) A straight line passing through the
centre of the circle
77. The curved surface area of a right circular
cone is 176 m? and its base diameter is
140 cm. What is the height of the cone ?
(a) 10cm
(b) 102 em
() 20V2cm
(d 10415cm
78. Consider the following statements :
1 The orthocentre of a triangle always lies
inside the triangle.
2.  The centroid of a triangle always lies
inside the triangle.
3. The orthocentre of a right angled
triangle lies on the triangle.
4. The centroid of a right angled triangle
lies on the triangle.
Which of the above statements are correct ?
(a) land2
(b) 1land4
(c) - 2and3
(d) 2and4
79. The locus of a point equidistant from two
intersecting lines is
(a) A straight line
(b) Acircle
(c) A pair of straight lines
(d) None of the above
SPSS-T-XHI

80.

81.

82.

(24-A)

Consider the following statements :

Two triangles are said to be congruent, if

1.  Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

2 Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

3.  Two sides and the included angle of one

; triangle are equal to the corresponding
two sides and the included angle of the
other triangle. ’

4, Two angles and the included side of one
triangle are equal to the corresponding
two angles and the included side of the
other triangle.

Which of the above statements are correct ?

(@) 1,2and3

(b) 1,3and4

() 1,2and4

(d 2,3and4

Given that the angles of a polygon are all
equal and each angle is a right angle.

Statement-1:  The polygon has exactly four

sides.

Statement-2 : The sum of the angles of a
polygon having n sides is
(3n — 8) right angles.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement-1 and Statement-2 are
true and Statement-2 is the correct
explanation of Statement-1

Both Statement-1 and Statement-2 are
true but Statement-2 is not the correct
explanation of Statement-1

Statement-1 is true but Statement-2 is
false

Statement-1 is false but Statement-2 is
true

If the length of a side of a square is increased
by 8 cm, its area increases by 120 square cm.
What is the length of a side of the square ?

(b)

(c)

(d)

(a) 2-5cm
(b) 35cm
(c) 45cm
(d) 55cm




76.

71.

78.

79.
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I{a)

16 em &S i s aret fopeft 9w i Breamai
% wea-feagat o1 faguy 2

(a) 8 cm frsa1 1 wH @H41 g9

(b) 16 cm Fro 1 U wH= g9

(¢) ¢ bl =™

(d) F9 % F5 W A AT Th T @l

U G- % Bl A I &A% 1:76 m?

2 of 36 SMUR FT ST 140 cm B | WF H|

Sud ey
(a)
(b)
(c)
(d)

frefafaa uai w faar Hifso -

1. U BIYd &1 &« &5 auen 3™ G %
3TEUEl BT 2 |

2. U FYW I e g 36 Fgw & o
AR

3. UH GuH B #1 o $g 39 e W
e g 2 |

4, TH GHHI YT 1 Fge W BYS W
femam 2 |

IgFT # H B HYT TE F 2

13 2

134

(¢c) 23M3

d) 234

3 et Yasi @ awE g W e fig
fergrer

(a) U W& @l

(b) Uh 9d

(¢) U @Al &1 U FH
(d) Ivded ° § HE TE

10 em
104/2 em
202 em
1015 cm.

(b)

80.

81.

82.

(25-A)

frefafiga s g faam #ifsu .

1. T o % A Fw g By % e
9 =ion % sUE Al |

2w foge A i T g B o g
i yoredi % s g |

3. uh Brya it G yad R IS Hard o
i Frgst # @ D ogenel s
el 101 & ST A |

4. wH BIYT & I aw FH AAd g
et fr % Hma 3 Fi @ T st
Yo & S A |

39T FYAT § H HIA-H Fal 2 2

(a) 1,233

(b) 1,334

(¢) 1,234

(@ 2,834

fe w0 2 6w wgys & wfi wio auet @
3R Y HIV TH HFHH 8 |

FYA-1: WEYS I I T Y 3 |
FY7-2: n WS A TEUS & BON H
ANTHS (3n — 8) THHIV BT B |

3wl o ued H, frefafigs § @ SR

w@ee

(a) FUA-1 3R HUYA-2 FAT GE &, AT HUA-2,
F9-1 1 7E =TS 2

(b) HYF-1 3 HuF-2 A GF 8, Al
FUA-2, HUA-1 I UA AR TE B

(c) HH-1TH 2, WAl FUF-2 Ted 2

(d) HYE-17Ed B, AT FI9-2 GE1 B

afe s @t i = I FGE 8 em FET & WM,

Al IEEHT SABA 120 em? F AW | & YA
i =TS =R 2

(a) 2H5em
(b) 35em
(¢c) 45cem
(d) ' 55cm




83. What is the largest power of 10 that divides | 87.
the product 1x2x3x4...x23x24%x257?

{q) 2
(b) 4
(c). b

(d) None of the above

84, Walls (excluding their roofs and floors) of 5
identical rooms having length, breadth and
height 6 m, 4 m and 2:5 m respectively are to
be painted. Paints are available only in cans
of 1 L and one litre of paint can be used for
painting 20 square metres. What is the

number of cans required for painting ? B8.
(a) 10
by 12
() 13
(d 14

85. A rectangular pathway having width 45 m
and length 10 m will have to be tiled using
square tiles of side 50 cm. Each packet of such

If the ratio of the circumference of the base of
a right circular cone of radius r to its height is
3 : 1, then what is the area of the curved
surface of the cone ?

(a) 8nr?
s 2mr?4n? +9
3
2 [ 2
1
© nreyn +
3
@ mr2,dn® +9
3

A wire is in the form of a circle of radius
98 cm. A square is formed out of the wire.
What is the length of a side of the square ?
(Use n = 22/7)

(a) 146 cm
(b) 152 cm
(¢) 154 cm
(d) 156 cm

tiles contains 20 pieces and costs ¥ 100. What| Consider the following for the next two (02)
will be the total cost of tiles for the pathway ? | questions:

(a) 1,200

(b) < 1,100

(¢ ¥ 1,000 89.
(d) <900

86. A cube of maximum volume (each corner

touching the surface from inside) is cut from a

~sphere. What is the ratio of the volume of the
cube to that of the sphere ?

90.
(a) 3:4n
b  3:2n
(€ 2:+3n
(d 4:3=n
. SPSS-T-XHI (26-A)

In a triangle ABC, a, b and c are the lengths of
the sides and p, q and r are the lengths of its
medians.

Which one of the following is correct ?

(a) 2(p+q+r)=(a+b+ec)

b)) 2(p@+q+1r)>3(a+b+e)

(c) 2(p+q+r)<3(a+b+c)

(d 11(p+q+1)> 10(a+b+c)

Which one of the following is correct ?
(a) (a+b+c)<(p+q+1)

(b) 3(@a+b+c)<4(p+q+r1)

(¢c) 2(a+b+c)>3(p+q+1)

(d 3(a+b+c)>4(p+q+r1)




83.

84,

85.

86.
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10 31 ATUhaw I1d F1 & S B
1x2x8x4..x28x 24 x 25 % faurfaa s
27

(a) 2
(b) 4
@ 5
(d) 37T | ° HIS AGI

TH AW 5 FEU H dan (fied wa qun eIt =
Biew) el ward, =en aw = e
6m4m3AN 25 me, WP g | 9
Faer 1 efiet & fesai § 3ucey 2 3R & i
Y2 T I 20 I et & TH A fEEr o
THdl 2 | T2 s & fou AEvgs fesi

& TR 2

(a) 10
(b)y 12
() 13
(d 14

wh HEAHR w4t R =ter 445 m 3 e
10 m 8, ¥ 50 cm YT % BN TEA T 2 |
U el %y Fhe # 20 A ¥ oM 3w
Fma T 1008 | A1 & fow egedt i o hiwa
1 &t 2

(a) ¥ 1,200
(b) ¥ 1,100
(¢) ¥ 1,000
(d) T 900

TH M § Al e F wH w (R
Jdsh AT 3T T A I Gag I T8 @l
B) FE T R | TH a9 WA F AEAAT B

S A 2

(a) 3:4n
(b) V3:2n
(¢ 2:+3=n
(d 4:3n

87.

88.

e B ¢ % ©F daadE T % uR H
aftfer qYT SEeht SeTg w1 U 3: 18, o IH
% 5h 53 I &heT 1 & 7

3mr?

(a)

s 21'£r2\}47r2 +9

T R, 98 cm 1 B F 99 F FAHR F 2 |
3™ TR ¥ U a1 SR o R | 9 A U e
61 FaE TR ? (7 = 22/7 T YART Hifom)

(a) 146 cm

(b) 152 cm

(¢) 154cm

(d) 156 cm

A 3 (02) FvAT & fow Aefenaa ww faen
Fifav:

89.

90.

s Bgs ABC H, a, b 3 ¢ Yo I wwgaf 3
aﬁp,qﬁ(r@ﬁﬂmaﬁﬁmﬁl

frfafga & @ S ad 2 2

(a) 2(p+qg+r)=(a+b+c)

(b) 2(p+q+r)>3(a+b+o)
() 2(p+qg+r)<3(a+b+c)
(d 11(p+q+r)>10(a+b+c)
frfafea 4 & sha wd 2 2

(a) (a+b+c)<(p+q+r1)

(b) 3(a+b+c)<d(p+q+1)
(c) 2(a+b+c)>3(p+q+r1)
(d) 3(a+b+c)>4(p+q+r1)



91.

92.

93.
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What is the area of the largest circular disc

—2—- units ?

T

cut from a square of side

(a)

n square units

(b)

1 square unit

n? square units

(c)

(d) 2 square units

The product of the lengths of the diagonals of
a square is 50 square units. What is the length

of a side of the square ?

(a) 542 units

5 units

(b)

(¢) 10 units

(d 25 units

The surface area of a closed cylindrical box is
352 square cm. If its height is 10 cm, then

what is its diameter ? (Use ©t = % )

(a) 4cm

(b)

8 em

(¢) 912cm

(d) 1926 cm

94.

95.

96.

(28-A)

A square and an equilateral triangle have the
same perimeter. If the diagonal of the square
is 642 cm, then what is the area of the
triangle ?

(a) 122 cem?
(b) 1243 cm?
(¢) 162 cm?
(d 1643 cm?

What is the area of the region bounded
internally by a square of side of length ‘a’ and
externally by a circle passing through the four

corners of the square ?

(n — 1) a% square units

(a)

(n—1)a?

(b) 5

square units

(¢) (n-2)a?square units

(n—2)a2

(d) 5

square units

In the figure given below, XA and XB are two
tangents to a circle. If £ AXB = 50° and AC is
parallel to XB, then what is © ACB equal to ?

(a) 7o°
(b) 65°
() 60°
(d) 55°




91. W%Wﬁ%aﬁﬁﬁmmwaﬁ% w1 IR v guerg Bys & ofmw s
g 2 1 afy o & fawof 642 om B, @ figw =

TR o2 gefa fewh w1 Swe w=@a A 2 eper st § 7

(a) = & ghTE (a) 122 cm?
(b) 17a0 3TE (b) 1243 cm?
(© 2ot T () 162 cm?

(d 163 cm?
@ 2o gwE

95. I &F 1 HABA A1 & S I H FAE @’ h
g AT @ @ oiEg # o AT & vw ol %
02. wH ¥ Rl B card B opEGE so | T & I A g9 A ARy R

W%Iaﬁ‘eﬁwgq-[ﬁmw%? (a) (n—l)azzaﬁgq;rg
(b) (t—1)a ?m‘samé

2
(a) 52%FT
(© (n—2)a2 3l 3h1g
(b) 53HIE @ (n—2)a? = v

2

© 10%FTE

96. ¥ fou mu fom #, XA 3 XB wh g9 # @
@ 25 3= wyi@md # | afe 2 AXB = 50° 3 AC, XB %
AT B, @ £ ACB forash et 2 2

93. TF W¢ GTHIBR T I T BF%e 352
et ® | afy soht Sed 10 cm 8, @1 3HHI
= TR 2 (n= 22 s ifi)

(a) 4em
(b) 8cm (@) 70
(b) 65°
9-12
(c) cm G 8o
(d) 1926 cm (d) 55°
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In the figure given below, p, q, r are parallel
lines; / and m are two transversals.
l m

o7,

A
v
o]

e C
/

Consider the following :
1= AB: AC=DE : DF
2. AB x EF = BC x DE
Which of the above is/are correct ?
(a)
(b)

1 only

2 only

(¢) Both1and?2

(d) Neither 1 nor 2

In the equilateral triangle ABC given below,
AD = DB and AE = EC. If [ is the length of a
side of the triangle, then what is the area of
the shaded region ?

A

98.

B

(a)

(b)

343 12
32

81
32

(e)

(d)

SPSS-T-XHI (30

99. In the figure given below, SPT is a tangent to
the circle at P and O is the centre of the circle.
If £ QPT = a, then what is £ POQ equal to ?
(0]
Q
< o >
S ) 3¢ R
(a) a
(b) 2a
() 90°-a
(d) 180°-2a
100. In the figure given below, two equal chords cut
at point P, If AB = CD = 10 em, OC = 13 cm
(O is the centre of the circle) and PB = 3 cm,
then what is the length of OP ?
A
\_-., / C
D B
(a) BHem
(b) 6cm
(e) 2 J29 em
(d) 2437 em
=A)




97. :ﬁ%fa'Q’TQ%ﬁﬁ, p,q,rmmgl
; Eﬁ?maﬁﬁﬁawgl
[ m
< A// \&D > P
< B E >
< Cj/f \f‘ > I
Fr=fafes w faar $ifse .
1. AB:AC=DE:DF
2. ABxEF =BCxDE
SYgFd H ¥ HH-H1/4 W 2/E 2
(a) Had 1
(b) Had 2
(¢ 13K 2
(d Jar1,T82
98. = f3u 7y wwaTg iy ABC #, AD = DB 3R
AE = EC? | 3t fiysr it w Yo Y &g ¢
2, d1 DEifhd &5 1 SF%e =1 7 ?
A
D E
B C
3v3 12
(a) 16
31°
W ==
343 12
(c) 39
gI?
S
SPSS-T-XHI

99.

100.

f= fgw mo foa #, SPT, P W g9 it wasidan B
I OFA H F3 8 | A LQPT = o &, @
£ POQ forees s & 2

02 A
i)
=y

(a) «

(b) 2a

() 90°-a
(d) 180°-2a

A feu mu fom 4, & sww Sferd foag P W
Fredt & IHﬁAB=CD=10cm,OC=13cm
(39 *1 &% forg O %) 3 PB=3 cm &, @
OP ! &=Ts 1 2 ?

AC

e

D B

(a) 5cm

6 cm

2429 em
ZJﬁcm

(b)

(c)

(d)
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SPACE FOR ROUGH WORK
H HIH & o0 g
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SPACE FOR ROUGH WORK
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& e HTTHT T GO0 GIaahT @ierd &1 7 HET AT¢ 77 7% T T&ied

&. &1, =i, : SPSS-T-XHI witeror gieaent ST

T18T0T gieaeht
URFeR ot

auT : 31 qve gurfer : 100

10.

I
Tfte TRET B % 9% A1E, AT 3@ qherur it i ugare oravd W o foh g wg e m,
mm@gmqqm;wm,anﬁwaIﬂﬁﬁm%,ﬁsﬁaﬁuﬂwgﬁwﬁmvﬁﬁt{l
mm@%omm-mﬁ,aﬁamm,ﬁnwahuﬂaﬂgﬁwmgw(mﬂa
WE) A, B, C 1 D &, = & vd fan foaedft g o faemfa & s ok HA h e
ufigan & ¢ | foret oft wenw it o /faemfa it fearfe & swrousres Fea o foan s |
39 e gieas W oy § fIu T Hses | STent e
FgshuTeh forga & | whe gfcas W s pw T ford |
38 whem gfeaen § 100 s () g e ¥ | vy et ol onish i A B B | wew
AT § WR Yoy (S) fow mw € | s | U goge H g9 of, O o9 st W osifed s
=TEd & | Afe 3Rt vEr o o ueh @ a1k SRR Tt €, A 39 WogeR i 3ifeha L S e el
& | Seds ST % foT Fer 0 g7 TogT TR |
e I wft Feger srer A Ry My s W F sifha # § | s | fiw o e 3fa |
e TR 6 3 A 2 | .
3e@ vgel T 3y qherr gitaest & fafim gwiel & Togat ST W Sifhd ST IE L, AT AW
TGS % WY ST STgew % SUR $S fqawr IS H & 7 | '
mmwﬁlﬁaﬁm-mﬁuﬁ%mamqﬁm%wwa\raﬁ'm-manﬂ%aﬁ
T G | AR a1 e gfee o S St STEAfd @ |
F= FW b 0 T vdieor giegen & 3id § g9 2 |
TeAd 3w o feru gue .
g weA-ual # sufigan gr fi e e s & ferg que fean o |
() wo® 9 % fon 9r dfus sw # | Inficar g uae v % for e e uw e sw F o we
?q e fope e 3t o uh-faes qve & w9 # e Smom |
Gi) aft 1 Iafican v ¥ e I @ B, 9 W TET IW 9 e, =i Ry v sad # ¥ v I
wdi g 8, Tt oft 33 we7 & fore swdwgan & st @t #1 gvs fean smom |
(i) @R suficar g IS I g T R Sman R, arutq Iefigan g s A faan S B, @t 3@ W %
for =g gue 7 fean e |

5 7% HTTH Tg GO GIaaht @ierd &t T FgT TG ad & 7 Tiel

Note : English version of the instructions is printed on the front cover of this Booklet.
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